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1 Introduction

Relay co-existence had been discussed for several meeting and some simulation results had been provided.
In last meeting, we submitted one contribution [1] on coexistence simulation results for access downlink in outdoor scenario. In this contribution, we provided further and updated simulation result in outdoor and thru-wall scenario. The simulations were done following assumption defined in [2].
2 Cases and assumption
This contribution provides preliminary results in the following cases.
In simulation, BS and RN use the same whole system bandwidth with full power. For access link co-existence performance, cell selection scheme has no influence on final results. 

The results for 50% RNs active and 100% RNs active are provided.

	Case
	Aggressors
	Victim Link
	Relay Deployment
	RN antenna configuration
	Propagaion Model
	RN Max Power
	Power control

	A1
	eNB and RN access side
	eNB -> UE
	6.2.1

Case 1
DR=1.5R


	6.4b
Outdoor relay
GBH = 15 dBi
	Case 1

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm
	N/A



	B1
	eNB and RN access side
	eNB -> UE
	6.2.4

Case 1
DR=1.5R
	6.4b
Thruwall relay
GBH = 15 dBi
	Case 1

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm
	N/A

	C1
	eNB and RN access side
	eNB -> UE
	6.2.1

Case 3
DR=1.5R


	6.4b
Outdoor relay
GBH = 15 dBi
	Case 3

with site planning
NLOS


	PAC,max=30 dBm

PBH.max=30 dBm
	N/A




3 Simulation Results

3.1 Case A1
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Figure 1 ACIR vs. throughput loss ratio for Case A1
	ACIR
	ALL RNs active
	50% RNss active

	
	5%
throughput loss
	Average

throughput loss
	5% 

throughput loss
	Average

throughput loss

	15
	17.06
	6.00
	10.20
	4.38

	20
	9.28
	3.84
	6.52
	2.84

	25
	6.43
	2.47
	5.31
	1.89

	30
	5.05
	1.71
	4.22
	1.43

	35
	3.72
	1.33
	3.57
	1.18

	40
	3.38
	1.15
	3.43
	1.09

	45
	3.28
	1.09
	3.30
	1.06


Table 1 simulation results for case A1
3.2 Case B1
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Figure 2 ACIR vs. throughput loss ratio for Case B1

	
	ALL RN active
	50% RN active

	
	5% 
throughput loss
	Average

throughput loss
	5%
throughput loss
	Average

throughput loss

	15
	13.22
	2.87
	10.31
	2.40

	20
	10.81
	2.42
	9.39
	2.16

	25
	9.67
	2.17
	8.89
	2.03

	30
	8.94
	2.05
	8.73
	1.98

	35
	8.73
	1.97
	8.63
	1.96

	40
	8.63
	1.95
	8.55
	1.95

	45
	8.56
	1.94
	8.50
	1.93


Table 2 simulation results for case B1
3.3 Case C1
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Figure 3 ACIR vs. throughput loss ratio for Case C1

	ACIR
	ALL RN active
	50% RN active

	
	5%
throughput loss
	Average

throughput loss
	5%
throughput loss
	Average

throughput loss

	15
	19.07
	6.40
	14.68
	5.13

	20
	14.81
	4.89
	11.60
	4.05

	25
	11.37
	3.88
	9.64
	3.37

	30
	9.49
	3.19
	8.07
	2.87

	35
	8.03
	2.79
	7.44
	2.62

	40
	7.41
	2.56
	6.98
	2.44

	45
	7.08
	2.44
	6.90
	2.39

	50
	6.90
	2.40
	6.85
	2.35


Table 3 simulation results for case C1

4 Conclusion

In this contribution, preliminary simulation results on access downlink for case A1, B1 and C1 with 100% RNs active and 50% RNs active are provided. The following conclusion can be made: 
· In case A1, when ACIR equals to 30dB, the edge user throughput loss is near to 5% and average throughput loss is less than 5%. 
· In case B1, even when ACIR is up to 45dB, the edge user throughput loss is still large than 5%. When ACIR is larger than 30dB, the main interference from aggressor system is brought by aggressor eNBs.
· In case C1, even when ACIR is up to 50dB, the edge user throughput loss is still large than 5%. When ACIR is larger than 40dB, the main interference from aggressor system is brought by aggressor eNBs.
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